MT240: Complex Variables and Transforms
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Worksheet 13

Fri, May 3 Spring 2019
Roll# Student 1: Roll# Evaluator 1:
Roll# Student 2: Roll# Evaluator 2:
Problem 1
Evaluate and sketch the graph of the convolution product f(t) % g(t) in each of the following cases.
0 t<0 0 t<-1
(a) ft)=192 O0<t<1, gt)=491 —-1<t<1
0 t>1 0 t>1
0 t<—-1
(b) f(t)=41 —-1<t<1l,  g(t)=-eu(-t)
0 t>1
0 t< -1
0 10 1<t<0
¢ t)=4¢2 0<t<1, t) = B
(© (0 TOEE S
0 t>1
0 t>1
0 t< -1
1 -1<t<0
d) f(t) = 6(t —2), t) = =
@ f=dc-2, gm=4" '
0 t>1
0 t< -1
1 -1<t<0
(e) f(t)=0(t+2)+20(t)+0(t—2), g(t) = -
-1 0<t«l1
0 t>1
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